Get out your homework and have it ready to check. Target Check
tomorrow!

Classwork - Writinig and Solving Inequalities Practice

Jrite an inequality to represent the situation. Then solve and graph the inequality.

A) Drew has a job making $9.50 an hour. If he wants to make more than 576, how many hours does he need to
work?
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B) Cedrick is having a barbeque and is making burgers. One pound of hamburger makes 4 burgers. If Cedrick
needs to make at least 28 burgers, how many pounds of hamburger does he need 1o buy?
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C) Dale has $25 to spend at a carnival. Admission to the camival is $4 and the rides cost $1.50 each. How many

rides could Dale possibly go on? Two operations
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D) The 7™ grade class is putting on a talent show to raise money and are selling tickets for $10 each. It costs
$250 to rent the hall and decorate it. How many tickets do they need to sell in order to raise over $6007

I 3 g w w

Inequality
Define variable: € = # ¥ £ chets Jot — 25‘; S 600 11‘7 iy

+i50 -I-Eﬂ #. MMI“'
fﬂ'ﬁ?ﬂ 3;’#&&

: O To Tio

= B Te 17 £ =>18S




Inequality Signs
> =* Greater Than < =* Less Than = =» Greater Than or Equal To < =» Less Than or Equal to
Open Cirele is < or > Closed Circle is < or =

Identify variable = What are vou looking for?

.

Decide what vour limit 157 #  What 15 acting on the vanable?
-at least, at most, -multiplication, division, addition, subtraction
no more than, no less than, etc.

Write an inequality to represent the situation. Then solve and graph the inequality. Interpret vour solution.

A)Ken is on a diet and dges not want to consume more than 2000 calories in a day. Today Ken has already
consumed food containing 1680 calones. He wants to eat some apples that contain 80 calories each. How many
apples can Ken eat?
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B) As a salesperson, Audrey eams 375 per week plus 35 per sale. This week, she wants her pav to be at least 5140
How manv sales does she need to make to meet her goal?
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Solution:

C) Eli and his sister went to the movies. Thev had 534 altogether to spend and spent 519 on movie tickets. Eli
and his sister both want to buy snacks for the movie. If thev both get the same amount to spend on snacks, how

much monev does each have to spend on snacks?
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Solve and graph the following inequalities. Remember, when multiplving or dividing by a negative number to
must flip the inequality symbol SHOW WORK
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D) —2x4+ 16 <10
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E)55x +13 = 90
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